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Basiec Multiplication

1. Place the 1. on sR_side over the number you want to multiply. In this example, the
number is 2 and in the picture below, it has a green dot (« ) over it and is located
On 2R_Bottom.

2. Find any number, anywhere on sg_side, and opposite it, will be the answer to the
multiplication problem. In this example, the number is 2, and it has a blue dot{«)
below it. The answer is 4, and It has a red dot («) over it,
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Things 1o remember:

1. The number you multiply, is located below the number 1 on sr_side. \WWe can also
use the number above the 1 on the upper half of s&_side, but that's something that
will be explained later.

2. The answer is always on gither SR_Bottom OF SR_Top.




Basie Division

quosant

First - something to remember; f +2=2 )
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1. Find a dividend on SR_Betiem ©F 58_Tep. In this example, we'll use 4 as the dividend which
is on SR_Bottom and has a green dot [« ) above it

2. Find a divisor on 2r_sside. In this axample we'll use the number 2, which has a blue dot
{ =) below it.

3. Ta find the quotient, look beneath the 1 on sr_side to see the answer 2, which has a red
dot (=) above it.
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Things 1o remembenr:

1. The dividend iz always on either sR_Bottom OF SR_Top, and the divisor is always chosen
fram one of the numbers on sr_ssde.

2. The quatient s always on SR_Bottom O SR_Top opposita the number 1.
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Did you know?

The slide rule has been around for eover 300 years.
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Did you know?

Im the early to mid 1970s the electronic scientific calculator made the slide rule mostly obsolate.




Did you know?

Slide rules were made from rany different materials including wood, bamboao, plastic, and metal.
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Did yo  know?

Pickati-brand slide rules were carried on five Apollo space missions.




Multiplication (wmore)

SA_Bofiore SR _SMe  BR_ T

Any rumbar on e slida rule can maan the same number with a 0 aftar it For exampla, the 1 can also mean 10, 100, 1000, atc. Tha
marks bahwen e 1 and the 2, represent such rumbens 8e 11, 12, 13, 14, elc, The mearks batwesan 2 and 3 regrasen] numbers such
as 21, 22, 23, 4, e, (U thee same for e marks Delwesn Sy roamiens,.

In the eampla abowa the 1 is cvar Tha 2, and on the right side of il i3 & circhs argund the 15 0n 3R_Shider and 30 on SR_Bettam,
showing thal 2x15=30. To the righl of thal i= & circls around the 28 and 80 showing thal 2x259=58. Thers s a orde around 35 on
SR_Slider and 70 on SR_Top, showing that 2x=T0. Finaly. there is a circle around 45 and 90 showing ol 2xa8=00.

Mrig number can be thought of as having a 0 afier it In the prewous examples, 2x18=30 can also be thought of as 2x160=300, and
oven a5 20uiS=300. Since we added one O to the problem, we alsa have 8 ad d one O 1o s arewer. Hwe were io add bwa zero's 1o
e prelam than s woukd Ak nasd 10 a0 tet Panc's 1o T anwar as in the problem 20w 50=3000. & problam that ey laok mans
cMcidt, is just aR easy foF axampks, 200x1500=200,000, This may e EModl b iderstand, bl silh praclics, it can bacama savpla.

BR_Shde SR _Top

SR _Bokom

Hotw:  Hhw 1 bozver i . The romiser it e 1 toowir 6 B rumiss v sl realiphs

Permamaier - thes mumbens on SR_Slids ane the numibers we can mulbply by, and the numbsrs on SRB_Top and SR_Botom are resuls
of tres rmuti plcation,

Sometimes, when e armow s ower a number on “5R_Bottom™, e rumiber you want b muliply by may be oo far

I
bt Figiht @5 5 1ha B in tha pichrs 1o tha right When shat happans, just look for he & on e 1op Scale on tha sidar. WH-[-“"‘“"E
This Bngwar i S problom wil be sbo that. in T axampl, e anseer is 12,




“ ' D'g"_, ‘ "t E ‘ SR for the geniuz within every kid

B

j’“"W'@'f"l’r‘Mh’i'ﬂi . ?: e o '"'i"“‘l. R

16 x2=32
1 1 1 [l " i [ ¥ ] 3
L It | L lilun | LI AELIEITLY
| L LT T T
i . ] » ' ( ] 4 |
NITION #: A devics consiling of beo bgaithemically dcalad fubis mountid b5 alde dong aech alhed sa it mulipheaben, dvmion. e, || Side-Fuls DEFINITION #2: A calsulaber thal dssan ey

Did you know?

In about 1622 William Cughired, an Anglican minister, places two sliding scales togather and recognizes the mathematical relationship bitweean the
two - ha has been recognized as the inventor of the slide rula.
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Did you know?

Folded scales CF and DF, like those on this shide rule, wene pud on slide rules about 1900 to reduce the amaoen of movement and resetting of the slide,
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Did you know?

Albert Einstein Favars the Mestler brand of slide rule in his work,
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Did you know?

Thaa slida rule was wsed 1o parform design calculations for virtually all the major structures built on earth from the time of ifs concaption, into the 20th canbuny.
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Did you know?

Early in tha 1%th cantury the first slide rules come inta usa in the United States.
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Did yo know?

Log log scales in three sections appear about 1901, enabling very accurabe calculation of powers and rools to any number or fraction.
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Slide rule researchers have estimated that possibly 40 million shide rules were produced in the world in the 20th century alone.




Tough Math -vutrerasioushas ook

246 x 48 = 11808 -> WOW!

Sirce we are workng with the number 330 © this szample, e laegs numbers. on e kwer scabks represent 100°s, making e 2 squal o 200, Tre ongest
lirwas Ewstwsin sac big numiser eapeacsnn] 100, making the dth Brgs mark aflar the 300, the nurmiser 43, Exch of the small lines s Foughl of a8 anomen
number, making tha first smal ine aftor the 480 the rember 2, followed by 4, and Tnally & - this i5 the last digil in Thi number we ane going 1o muliph. IFNso
add our Srsl rumber 200 with the 40 and fnaly the 6, we have the numbsr 245 that we are going o muRpk. In fis example. the 4 i 40, making ths 48,
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FRemamier Tal tha small numbers bt the lane 1 and 2 rpeesan rombes lka 11, 190, 1900, and avan 11008 W know, by thi losation of e 48 That
e number we ane bulding” begins with 11 and we can guess thal & wil 52 arcund 11000 rather than 1108 because of the siee of the numbers being muitipled.

Wi gat ha BB bacausa (e 10000 i i the oussnds, ta Ined batwean thi 1 [17000) and 7 2 jwhich rapmeanis 20000 in this prebkem) an thiughi of
s “numbar s 100" gach. Since tharg am a i@l of B ines, we know thal porlion of the answr is B0

Figuring cul P 8 mquiness & limle Bil ol “praliminany malh®™ which you may be able o do in pour Fead, e you can calodate il wing the aide rul pricr o

multiphying the entire rumber - 171 asplain how, With a problem such as 24648 an sasy way 10 always gat ihe last dig of the answor is to multipy the last
swo digits of the problem [the two digls in $is exampls are 6 and B) which in this problemn produces e ansser 48 {Ex=48}. We lake only the lst dgt of
ot s and wse i, That last dagit. from the 48 i3 B, which els us Sal the line thet we can’ syven ses on the side e s B

Finaly, when we combing The 11000+800+8. we get our answer of 11308,




Resources

The history used within these pages has been my
interpretation of the slide rule history as presented
in various locations on the internet, as well as books
which | have purchased on the subject. Below are
some of the internet websites that | visited.

1. http://en. wikipedia.org/wiki/Slide_rule
much slide rule history, basic operation, and scale explanation

2. http:/iwww.sliderulemuseum.com
museum of slide rules of many makes and models

3. http:/fwww.sphere.be.caltest/sruniverse. htmil
slide rules for sale, slide rule operation, make your own slide rule.

4. http://www.sliderule.ca/resource.htm
lots of slide rule links

5. http://www.ebay.com/
lots of slide rules and slide rule related items for auction

contact me -
Web: hitp:/fweww. 2timv.com/KidsRule
email: timvandusen@yahoo.com
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